[d* sum p_/dndeJGeV]

Ratio to ATLAS

T

2.5

[EEY

0.5

900 GeV p Underlying Event
_I I | I I I | I I I | I I I | I I I J_ ﬂ
C
u Sum(p,) Density (TWRD) (h| < 2.5, p_>0.1 GeV) 1%
B 1=
— m ATLAS —%
-~ --3-- Herwig 7.2.0 default —Ho
| —a— Pythia 8.230 default :o“r').
¢ Sherpa 1.3.1 default s
>
B |
- o
o™
— <
- —4 ™M
B o
. _ 1O
™
- —
~ -2
B X
— s,
- —
- 1%
| <=
B J@
_ R
%]
B 7o
o
- - O
_I | | | | | | | | | | | | | | | | | |_ E
:I T | T T T | T T T | T T T | T T T |:
— =2
1
L —0.5
l L l l l L L L l
2 4 6 8 10

pT (leading track) [GeV]



	Contents
	Page 1


